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All the questions are compulsory Student should write their Roll No. on the questions paper?

@Us—H (Section—A)
AT —Wys WEr 19 10 7 e 9v 1-7 HFHTE | (Nole—Question No. 1 to 10 every question 1-1 marks)
L. g3 St v w ge 312 % 288 1 A TR HIT 1 Find the value 312 x 288 using Sutra Urdhva-triyak.
2. T AkE AN @ AT E DX+ =x+3)(x+3)

Solve the equation(n + 1) (n +9)=(x+3) (x + 3} by vedic method. K
. sin GO° cos 30° + sin 30° cos 60° &1 AWH J1H FfTT1 Find the value sin 60° cos 30° + sin 30° cos 60°.

3
sin 67° sin 67°
4o Tooog0 AW FAT1 Find the value =530
5, e 210, 5 %1 HCF gfwers fawem fyfir § 0 S| Find the HCF of number 210,55 by Euclid division
method. ’
.6 q '1'@1311 R W faga'ﬂ =1 fargyy faf@yl Write Locus of point equidistant from two lines.
o 7. AFEH LAPB & FIfAq1 Find ZAPB in given figure. A ‘
() P
B

L 8.0 TR TR T e F o gen T Wfawar 3 Fhan 1 Find the probability of getting a odd number on
throwing a die once. '
¢ 27T 3fe qgfr' " 1 Wt fafEe | Write the equation of “Stopping sight Distance™.
0. i (A% i /T ﬁ‘ﬁm\ T FE ¥ | What is called of point cquidistant from vertices of triangle. '
. ' @UE—3 (Section—B) - -
Rz —T¥ YT 11 | 15 T Wellsh ¥ 2 3 HT¥1 (Note—Question No. 11 to 15 every question 2 mark)
11, R #if 3-J/5 Sofa €& § 1 Prove that 33 is an irrational number.

_1:?,-..- T A i 9y 44 T ¥ g il &A% 9 HIT I The circumference of a circle is 44 cm. Find the arc of the
circle. .

13. ¥ Hen fofir A 107 1 3 910 B Find the square of 107 by Ishta Sankhya Method. '

14. 14 3 B = 70 e ST 99 3 R T 30° s A § 178 I A/ T TTEVE Tl &R F B |
Radius of a circle is 14 cm and angle sublended by a chord at the centre 30°. Find the area of minor segment
of the circle formed by this chord. - .

___1:5, W?ﬂﬁmzﬁ‘lﬁiﬁ%ﬁ??ﬁﬁmwccw S & R et o v @ 12 T TR & o ﬁwmm
ﬁMW@i1mﬁuﬁﬁﬁHﬂimﬂﬂqﬂﬁmﬁ?mﬁ%mm%m%mﬁﬁm '



ACCTy Camerais (2]

13 meter of sjgn, fpl-h‘m::.d onthetop of astraight 12 meter high Polein such away that traffic can be seen beyond
SOt it. Find the distance from of the foot of pole beyond which the traffic is visible.

ﬁ?.‘—-m ) HUrE—y (Section—C) .
ST 16 R 25 e ¥ 3 3% H ¥ | (Note—Question No, 16 ¢ 25 every question 3 marks.)

292 +41=0 F 0 T/ FU Find the root of qtiadratic equation 252 2.2 41=0.
17 1.13 1000 % st 3 3 W et form denai &1 Ao g i)
Find the sum of g)) 0odd numbers divisible by 3 between 1 and 1000.
18. SO?ﬁaﬁgaﬁmmmmmzow%maﬁwﬁ%ﬁﬁ@maﬁm1 The angle of depression
of any boat from g 50 meter high bridge is 30°, Find the horizontal distance between boat and bridge.

19 smpfa 4 ABCDWW%@%ImHﬁmmml In figure ABCD is 3 cycle
qQuadrilateral. Find the g angle. A

r _

20. mﬁﬁnﬁ%wmm%ﬁ%mﬁﬂiamﬂ@r&mwﬁ%l
The tangent lines drawn from an exterior point to a circle are equal.

21 T ABC %1 7o 11 fomaif BC =3.8 em 2B = 60° 7or £C=55° %158 v & wfme 1 Wi T HifT
Construct a triangle ABC in wheih BC = 3.8 cm £B =60° and £C=55°. Draw a circumcircle of this triangle
and check the position of circumeentre.

02 < i swpfa § AB || CD & W fag S A AOR - A COD1 In the given figure AB || CD. Prove that
A AOB ~ A COD. A £ '

B

23, 10 e T § X T o 6 Her Y FH H oo R e fee vt 9 T 91 1 Find the maximunn

- length of rod whcih can be kept in a room of si&.:c 10m x 8m x 6m. -

24. 9 Sl fe g & iy 1 frererent 3 Tt BN 3 6 Bt Srad 3 feverd v 13 MHH 1 How many copes
of 3 cm radius and 6 cm in hight are formed by melting a metallic sphere of radius 9 cm.

25 50 O 12 e 3 132 o7 i firer O 1 S S o e o o e € 6 9 ¥ ww o aegy
%wﬁwhwwm%ﬁmmmaﬁ FWfawaE 1 Due tosome reason 12 fa!.ﬁt}f PENs are mixed
with 132 non faulty pens. By inspection we cannot judge that pen is faulty or not. If cne penis randomly chosen
then what is the Probability of non faulty pen. E '

' @Ug—=¢ (Section—D)

'-'{?E'—-(Nﬂle—Queslion No. 26 to 30 every question 4 marks) o
% mmyﬁf3x+2}'=ll,_2xu3y=—lﬂ = ATy fafy @ & Fifa) ._
Linear equation pair 3x + 2y = 1], 2x - 3y = - 10. Solve by graphical method. LA-(X) w11 1
X



27.

30.

faz 'ﬂﬁﬁ'ﬂ{ : (Prove that) : (3]

(i) cos'+sin'B=1-2sin"Bcos’g

l1+cosB

Gi) =cosec § +cot 8

l-cosB

(i) sin?@cosB+ tan O sin B+ cos’O=sec®

(i) 1an 12° cot 38° cot 52° cot 60° cot 78° = 4

NE

fq:g:-.if (6.8) afn (2,4)ﬁﬁaﬁﬁlﬁim%ﬁmﬁgﬁf‘ag (1,2) F 70 7@ witeg, | Find the distance between

of point (1, 2) from mid point of line segment which joint the points (6, 8) and (2, 4).

mmﬁﬂmﬁﬁ%mm 3T I W Tﬁﬂaﬁ&?'ﬂ"ﬁ‘:ﬁ Eﬂqu%mﬁ‘s“iﬁltt Prove that

the ratio of the areas of two similar triangles is equal to the ratio of square of their corresponding sides.
areEr (OR)

MW@WABCﬁ&WBCmW%gDmmm%ﬁs BD=%BC§‘?ﬁﬁ43Eﬂ9AD3=TABE

Ifapoint Dontheside BCofan eqhi]nlcra] triangles ABC. Suchthat BD = % BC, then prove that 9AD? =7AB2,

Ffeqd UM 26 WAL F171 g2 &1 A 7| 11 Find the mean of the following distribution. Assume mean
as 25.
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